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(Application Oriented Course) 

AMT-01 : TEACHING OF PRIMARY 

MATHEMATICS  

Time : 3 Hours  Maximum Marks : 100 
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Note : Q. No. 1 is compulsory. Do any eight 

questions out of Q. No. 2 to Q. No. 10. 

1. (a) Dinesh says that for any non-zero 

number x, the number 1/x is less than 

x. Ritu argues that this is not correct. 

Who is right ? Give justification for 

your answer, with arguments each of 

them may have presented. 4 
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 (b) Explain the process of going from 

particular to general. Your 

explanation should include example 

from geometry. 4 

 (c) Explain the process of placing things 

in one-one correspondence. Why is this 

considered a pre-number process ? 

Your explanation should include an 

example. 4 

 (d) List two distinct kinds of activities to 

help a class of 30 children understand 

what a negative number is. 4 

 (e) A car mechanic says that while 

repairing vehicles she uses a lot of 

mathematical knowledge. Give two 

distinct ways she would be using 

Mathematics. The example should be 

from different branches of 

Mathematics. 4 
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2. (a) Give three common errors made by 

children while using a scale for 

measuring length. Give one example 

for each. For any one of these give  

two distinct activities to correct this 

error. 6 

 (b) A child solved 
8 1 9

15 5 20
  . Explain 

child’s possible understanding behind 

this answer. Is she correct ? Give 

reasons for your answer. 2 

 (c) Represent 63 in the binary system. 

Show the process of reaching your 

answer. 2 

3. (a) Explain the difference between 

‘Instant of time’ and ‘Interval of time’. 

Give one example of each. Further give 

two distinct outdoor activities to help 

child understand the difference 

between the terms. 7 
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 (b) What are four concepts that are 

needed to be understood before 

learning multiplication of two natural 

numbers. Give one reason why rote 

learning tables for multiplication is 

not essential. 3 

4. (a) Give a word problem for each of the 

following categories of operations on 

numbers, in the context of using 

decimal fractions. Also explain how 

would they be solved : 6 

  (i) Cartesian product 

  (ii) Augmentation 

  (iii) Complementary addition 

  (iv) Equal sharing 

 (b) Is arithmetic a particularisation of 

algebra ? Explain your answer. Your 

explanation should include a detailed 

example. 4 

5. Give an example, each to illustrate and 

justify the following statements : 10 
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 (i) Children have their own strategies for 

solving problem. 

 (ii) Children who can recite number 

names may not know counting. 

 (iii) The use of language can affect the 

learning of Mathematics. 

 (iv) All squares are rectangles. 

 (v) There is at least one closed figure that 

has infinitely many lines of symmetry.  

6. (a) Prove or disprove that the product of 

any two odd numbers is also an odd 

number. 4 

 (b) Give an activity to introduce the 

concept of ‘area’ to a group of students 

While doing this activity, what are the 

two key misconceptions children could 

develop ? Redesign the activity to help 

children avoid getting the 

misconception. 6 
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7. (a) Ramesh says that angle BAC in the 

picture below is the space between AB 

and AC. Do you agree with him ? Give 

reasons for your answer clearly 

explaining what angle BAC is. Also 

mark it. 3 

 

 

 

 

 (b) Give two reasons why algebra should be 

learnt by school children. 2 

 (c) A child is asked to compare : 

1 1 1
, ,

3 10 7
 

  She writes 
1 1 1

> >
10 7 3

.  

  What could be her reasons for this 

answer ? Further give two distinct 

activities to help her develop between 

understanding of comparison of 

fractions. 5 
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8. (a) If PQ – QP = 27, where Q and P are 

digits from 1 to 9, then what could be 

the values of P and Q ? Write down 

your steps for reaching the answer. 

How many answers can this problem 

have ? 4 

 (b) Give an example of a game to help a 

child learn a certain concept. Could 

this game also be used to assess the 

child’s understanding of the same 

concept ? Give reasons for your 

answer, including a detailed example.

 4 

 (c) Explain the statement, “Preschoolers 

think in patterns”. 2 

9. (a) Why is it important to develop the 

ability to estimate ? Give reasons for 

your answer. Also illustrate your 

answer with an example related to the 

subtraction of decimal numbers. 

Further, give an activity to help 

develop this ability in the context 

given above. 6 
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 (b) Explain the following linkages 

between Mathematics and language, 

with examples drawn from the context 

of learning to count : 4 

  (i) Mathematics as a language 

  (ii) The language of problem solving  

10. (a) Which of the following do you agree 

with ? Give reasons for each answer 

with detailed explanations : 8 

  (i) Errors are made only by those 

children who do not concentrate 

in class. 

  (ii) There are always about one-third 

of children in any class who 

cannot learn Mathematics. 

  (iii) A 6-year old child who has not 

gone to any Anganwadi or 

Kinder-garden knows no 

Mathematics when she comes to 

class 1. 
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  (iv) Children should have ample 

opportunity to discuss mathe-

matical concepts among them-

selves. 

 (b) Give two essential questions an 

evaluator of the effectiveness of the 

teaching-learning process needs to 

ask. 2 
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 AMT–01 

Lukrd mikf/k dk;ZØe@izkbejh fo|ky; ds 

v/;;u esa izek.k&i= 

(ch-Mh-ih-@lh-Vh-ih-,e-) 

l=kar ijh{kk  

twu] 2025 

(O;ogkjewyd ikB~;Øe) 

,e-,e-Vh&01 % izkjfEHkd xf.krh; f'k{kk 

le; % 3 ?k.Vs   vf/kdre vad % 100  

     Hkkfjrk % 70% 

uksV % iz'u ua- 1 vfuok;Z gSA iz- la- 2 ls 10 rd fdUgha vkB 

iz'uksa ds mÙkj nhft,A  

1- (d) fnus'k dk dguk gS fd fdlh Hkh 'kwU;srj la[;k x ds 

fy,] la[;k 1/x, x ls de gSA fjrq dk ekuuk gS fd 

;g lgh ugha gSA nksuksa esa ls dkSu lgh gS \ vius 

mÙkj esa nksuksa }kjk fn, x, rdks± ds vk/kkj dh iqf"V 

dhft,A  4 
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 ([k) fof'k"V ls O;kid dh vksj c<+us dh izfØ;k dks 

Li"V dhft,A vkids Li"Vhdj.k esa T;kfefr dk 

,d mnkgj.k gksuk t:jh gSA 4 

 (x) ,dSdh laxfr esa oLrqvksa dks j[kus dh izfØ;k dks 

Li"V dhft,A bls la[;k&iwoZ izfØ;k D;ksa ekuk tkrk 

gS \ vkids Li"Vhdj.k esa ,d mnkgj.k 'kkfey gksuk 

pkfg,A  4 

 (?k) ½.kkRed la[;k D;k gS \ ,d d{kk ds 30 cPpksa 

dh bls le>us esa enn ds fy, nks vyx&vyx 

izdkj dh xfrfof/k;k¡ crkb,A 4 

 (³) ,d dkj eSdsfud dk dguk gS fd okguksa (xkfM+;ksa) 

dh ejEer djrs le; og xf.krh; Kku dk dkQh 

iz;ksx djrk gSA nks vyx&vyx dk;Z rjhds crkb,] 

ftuesa og xf.kr dk iz;ksx djrk gSA mnkgj.k xf.kr 

dh fHkUu&fHkUu 'kk[kkvksa ls gksus pkfg,A 4 

2- (d) yEckbZ ekirs le; Qêk (Ldsy) dk iz;ksx djrs 

gq, cPps vkerkSj ij tks rhu xyfr;k¡ djrs gSa] og 

crkb,A izR;sd dk ,d&,d mnkgj.k nhft,A buesa 

ls fdlh ,d xyrh dks lq/kkjus ds fy, nks 

vyx&vyx xfrfof/k;k¡ crkb,A 6 
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 ([k) ,d cPph us ,d loky dks bl izdkj gy fd;k % 

  
8 1 9

15 5 20
  A bl mÙkj ds ihNs cPph dh 

lEHkkfor lksp crkb,A D;k og lgh gS \ vius mÙkj 

ds dkj.k crkb,A 2 

 (x) 63 dks f}vk/kkjh iz.kkyh esa fu:fir dhft,A vius 

mÙkj rd igq¡pus dh izfØ;k n'kkZb,A 2 

3- (d) ̂ ,d {k.k* vkSj ^le;&vUrjky*ds chp vUrj Li"V 

dhft,A izR;sd dk ,d&,d mnkgj.k nhft,A blds 

vkxs] bu nksuksa esa vUrj le>us esa cPps dh enn ds 

fy, nks vyx&vyx eSnkuh xfrfof/k;k¡ crkb,A 7 

 ([k) nks izkÏr la[;kvksa dk xq.kk lh[kus ls igys ,slh 

dkSu&lh pkj vo/kkj.kk,¡ gSa] ftUgsa tkuuk (le>uk) 

t:jh gS \ xq.kk ds fy, igkM+ksa dks jVdj lh[kuk 

t:jh ugha gSA bldk ,d dkj.k crkb,A 3 

4- (d) n'keyo fHkUuksa dk iz;ksx djus ds lUnHkZ esa la[;kvksa 

ij lafØ;kvksa dh fuEufyf[kr izR;sd Js.kh dk 

,d&,d bckjrh loky crkb,A ;g Hkh crkb, fd 

bUgsa gy dSls djsaxs \ 6 

  (i) dkrhZ; xq.kuQy 

  (ii) vko/kZu 

  (iii) iwjd tek 

  (iv) cjkcj&cjkcj ck¡Vuk 
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 ([k) D;k vadxf.kr chtxf.kr dk fof'k"Vhdj.k gS \ 

vius mÙkj dks Li"V dhft,A vkids Li"Vhdj.k esa 

,d foLr`r mnkgj.k 'kkfey gksuk pkfg,A 4 

5- fuEufyf[kr izR;sd dFku dks Li"V djus vkSj iqf"V ds 

fy, ,d&,d mnkgj.k nhft, % 10 

 (i) lokyksa dks gy djus ds fy, cPpksa ds vius&vius 

rjhds gksrs gSaA 

 (ii) tks cPps la[;kvksa ds uke cksy ldrs gSa] gks ldrk 

gS] mUgsa fxurh u vkrh gksA 

 (iii) Hkk"kk dk iz;ksx xf.kr lh[kus ij izHkko Mky ldrk 

gSA 

 (iv) lHkh oxZ vk;r gksrs gSaA 

 (v) de&ls&de ,d ,slh cUn vkÏfr gksrh gS] ftlesa 

vlhe (vusd) :i ls dbZ lefefr js[kk,¡ gksrh gSaA 

6- (d) fl¼ ;k vfl¼ dhft, fd nks fo"ke la[;kvksa dk 

xq.kuQy Hkh fo"ke la[;k gksrk gSA 4 

 ([k) fo|kfFkZ;ksa ds ,d lewg dks ^{ks=Qy* dh vo/kkj.kk 

ls ifjfpr djkus ds fy, ,d xfrfof/k crkb,A 

xfrfof/k djrs le; cPpksa esa dkSu&lh nks 

xyrQgfe;k¡ fodflr gks ldrh gSa \ xyrQgfe;ksa 

ls cpus esa cPpksa dh enn ds fy, xfrfof/k dks 

nqckjk ls rS;kj dhft,A 6 
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7- (d) jes'k dk dguk gS fd uhps fp= esa fn, x, dks.k 

BAC, AB vkSj AC ds chp dk LFkku gSA D;k 

vki mlls lger gSa \ dks.k BAC D;k gS] bls 

vPNh rjg Li"V djrs gq, vius mÙkj ds dkj.k 

crkb,A  3 

 

 

 

 

  bl fpfÊr Hkh dhft,A 

 ([k) Ldwy cPpksa dks chtxf.kr D;ksa lh[kuk pkfg,] nks 

dkj.k crkb,A 2 

 (x) ,d cPph dks fuEufyf[kr dh rqyuk djus ds fy, 

dgk x;k % 

1 1 1

3 10 7
, ,  . 

  mlus fy[kk 
1 1 1

10 7 3
   . 

  bl mÙkj ds fy, mlds D;k dkj.k gks ldrs gSa \ 

blds vkxs fHkUuksa dh rqyuk dh csgrj le> 

fodflr djus esa mldh enn ds fy, nks 

vyx&vyx xfrfof/k;k¡ crkb,A 5 



 [ 15 ] AMT–01 

C–2709/AMT–01 P. T. O. 

8- (d) ;fn PQ – QP = 27, tgk¡ Q vkSj P 1 ls 9 rd 

ds vadksa esa ls gSa] rc P vkSj Q ds eku D;k gks 

ldrs gSa \ mÙkj rd igq¡pus ds fy, vkius ftu 

pj.kksa dk bLrseky fd;k] mUgsa fyf[k,A bl loky 

ds fdrus mÙkj gks ldrs gSa \ 4 

 ([k) cPph dh fdlh fof'k"V vo/kkj.kk dks le>us esa 

enn ds fy, ,d [ksy dk mnkgj.k nhft,A blh 

vo/kkj.kk ds ckjs esa cPph dh le> dk vkdyu 

djus ds fy, D;k bl [ksy dk iz;ksx Hkh fd;k tk 

ldrk gS \ ,d foLr`r mnkgj.k nsrs gq,] vius mÙkj 

ds dkj.k crkb,A 4 

 (x) ßLdwy iwoZ cPps iSVuZ esa lksprs gSaAÞ bl dFku dks 

Li"V dhft,A 2 

9- (d) vanktk yxkus dh {kerk fodflr djuk D;ksa 

egRoiw.kZ gS \ vius mÙkj ds dkj.k crkb,A 

n'keyo fHkUuksa ds ?kVko ls lEcfU/kr ,d mnkgj.k 

}kjk vius mÙkj dks Li"V Hkh dhft,A blds vkxs] 

Åij fn, x, lUnHkZ esa bl {kerk dks fodflr djus 

esa enn ds fy, ,d xfrfof/k crkb,A 6 
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 ([k) fxurh (fxuuk) lh[kus ds lUnHkZ esa mnkgj.k nsrs gq, 

xf.kr vkSj Hkk"kk ds chp fuEufyf[kr lEcU/k Li"V 

dhft, %  4 

  (i) Hkk"kk ds :i esa xf.kr 

  (ii) loky gy djus dh Hkk"kk 

10- (d) D;k vki fuEufyf[kr esa ls lger gSa \ foLr`r 

Li"Vhdj.k ds lkFk izR;sd mÙkj ds dkj.k crkb, % 8 

  (i) dsoy os cPps gh xyfr;k¡ djrs gSa] tks d{kk esa 

/;ku dsfUnzr ugha djrsA 

  (ii) fdlh Hkh d{kk esa ges'kk ,d&frgkbZ cPps ,sls 

gksrs gSa] tks xf.kr ugha lh[k ldrsA 

  (iii) ,d N% o"khZ; cPpk tks fdlh Hkh vk¡xuckM+h 

;k fdaMjxkVZu esa ugha x;k] Ldwy (igyh 

d{kk) esa vkus ij mls xf.kr dh tkudkjh ugha 

gksrhA 

  (iv) cPpksa dks vkil esa xf.krh; vo/kkj.kkvksa dh 

ppkZ djus ds fy, cgqr T;knk volj iznku 

fd, tkus pkfg,A 

 ([k) lh[kus vkSj fl[kkus dh izfØ;k dh izHkkfork 

(dkjxjrk) tkuus ds fy, ,d ewY;kadudrkZ dks 

dkSu&ls nks vfuok;Z iz'u iwNus pkfg, \ 2 

× × × × × 

 


